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The second formula of section 3.2 was:

bp(Xijs Xi1) = exp(sih))  Xij = X =1
Y 0 Otherwise

The correct formula is:

(type)
exp(s;: ) Xij=Xu=1
X0, X)) = ij,
9p(Xij, Xt) {1 Otherwise

Also in section 3.2, the last sentence of paragraph “Loopy Belief Propaga-
tion” was “...output QZ(.;F) (Xi;)”. It should be “...output normalized QE;TF)(X”)”.
The first formula of section 3.3 was:

P(ygjdge) |w) = softmaX(QZ(-jT) (Xi5))

The correct formula is:

P(y(cdgc) _ X”|W) = QET) (ij)

ij J

These errors have been fixed in the version of the paper available in arXiv
and in the authors’ homepages, but not in the version in the ACL anthology.
We apologize for the errors.



